
Séquence de Nombres Linéaires (A)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 389 394 399 404 409 414 429Différence commune:2. 353 403 503 553 603 653 803Différence commune:3. 500 700 800 900Différence commune:4. 576 586 596 626 636Différence commune:5. 120 135 140 145 155 165Différence commune:6. 492 542 567 592Différence commune:7. 544 594 644 669 694 719 744Différence commune:8. 488 498 508 528 538 548Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (A) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 389 394 399 404 409 414 419 424 429 434Différence commune: 52. 353 403 453 503 553 603 653 703 753 803Différence commune: 503. 100 200 300 400 500 600 700 800 900 1000Différence commune: 1004. 546 556 566 576 586 596 606 616 626 636Différence commune: 105. 120 125 130 135 140 145 150 155 160 165Différence commune: 56. 467 492 517 542 567 592 617 642 667 692Différence commune: 257. 519 544 569 594 619 644 669 694 719 744Différence commune: 258. 478 488 498 508 518 528 538 548 558 568Différence commune: 10Mathslibres.com


